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Q1) Answer any ten parts of the following : [10 × 1 = 10]
i) According to Bohr's theory, angular momentum of electron present in fifth orbit will be

a)
h



b)
. h

 

c) h


d)
.
h
 

ii) Which of the following is natural polymer?
a) Nylon b) Polythene
c) Cellulose d) Dacron

iii) The element having highest electron affinity is
a) N b) O
c) F d) C l

iv) What is the pH value of 
N


 NaOH solution?

v) What will be the change in atomic radius by going upper to lower side of a group in the periodic table?
vi) The quality of petrol is measured in terms of _________.
vii) In reaction SnCl2 + 2FeCl3  SnCl4 + 2FeCl2 which is being oxidised and which is reduced?
viii) What is annealing process?
ix) Write I.U.P.A.C. name of glycerol.
x) Why is Oxygen molecule paramagnetic?
xi) In kitchens _______ gas is used as fuel.
xii) What is dewaxing?

Q2) Answer any five parts of the following : [5 × 2 = 10]
i) Write the differencess between sigma and pi bonds.
ii) Write the electronic configuration of the elements having atomic number 24 and 29.
iii) 10 gm CaSO4 and 6.5 gm MgCl2 were present in one million parts of a hard water. Find out the ppm of water

hardness.
iv) Why is sulphur added in natural rubber?
v) Write the ionic equations for the substances Oxised and reduced in the following reaction. Identify the substances

Oxised and reduced 2H2S+SO2  3S+2H2O.
vi) To prevent corrosion pure metal is preferred to impure metal. Explain.
vii) Write short notes on Power alcohol.
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Q3) Attempt any two parts of the following : [2 × 5 = 10]

i) a) What do you mean by Nernst equation? Write the Nernst equation for the half cell :

Mnt + ne M

b) What is Galvanic cell? Explain its working process by an example.

ii) a) Explain hardness of Water.

b) Explain caustic embrittlement on boiler metal. State the prevention of caustic embrittlement.

iii) a) Define metallic corrosion. Differentiate between chemical and electrochemical corrosion by example.

b) Write I.U.P.A.C. name of the following :

1)

2)
3| ||

3 2 2

                    
OCO H

CH CH CH CH C Cl    

3) 3 3| |

2

CH CH CH CO CH
CHO NH

   

Q4) i) Attempt any two parts of the following : [2 × 5 = 10]

a) Write short notes on knocking and antiknocking agents.

b) Define lubricants. What is importance of additive compounds in lubricants? Explain with example.

ii) Explain the following :

a) Cracking

b) Calorific value of a fuel

c) B.O.D.

d) C.O.D.

e) Tarnishing

iii) a) Explain Aufbau principle and magnetic quantum number.

b) What do you understand by Co-Polymers? How does Buna-S differ from Buna - N?

Q5) Answer any two parts of the following : [2 × 5 = 10]

i) a) Write short notes on prevention of corrosion.

b) Differentiate between homopolymers and Co-polymers with examples.

ii) a) Why is sterlisation of water supplied in homes necessary? Describe method by which it is done.

b) What is R.O. Process? Describe the advantages of the process.

iii) Write short notes on

a) Neutralisation number and saponification value of a lubricant.

b) Modern periodic law and Hydrogen bond.

CH3 – 
||
C  – CH2 – CH2 – 

||
C  – OH

O O



2043

F - 3164 3

({hÝXr AZwdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : i) g^r àíZm| Ho$ CÎma Xr{O¶o&

ii) narjm{W©`m§o H$mo gbmh Xr OmVr h¡ {H$ do àíZ-nÌ Ho$ XmoZm§o AZwdmXmo§ _| gm§»`H$s` Am±H$‹S>m§o H$m {deof ê$n go {_bmZ H$a b§o& `{X {hÝXr AZwdmX Ho$
{H$gr àíZ _| {H$gr àH$ma H$s {^ÞVm h¡, Vmo narjmWu A§J«oOr AZwdmX Ho$ AZwgma àíZ H$m CÎma X§o&

iii) narjm{W©`m| Ûmam noµOa Am¡a _mo~mBb \$moZ H$m à`moJ AZw_Ý` Zht h¡&

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xg ^mJm| Ho$ CÎma Xr{OE … [10×1=10]

i) ~moa Ho$ {gÕmÝV Ho$ AZwgma nm±Mdo H$moe ‘| CnpñWV Bbo³Q´>mZ H$m H$moUr¶ g§doJ hmoJm -

A)
h



~)
. h

 

g) h


X)
.
h
 

ii) {ZåZ{b{IV ‘| go H$m¡Z gm àmH¥${VH$ ~hþbH$ h¡?

A) ZmBbmZ ~) nmbr{WZ

g$) gobwbmog X) S>oH«$mZ

iii) gdm©{YH$ Bbo³Q´>mZ - ~ÝYwVm dmbm VËd h¡ -

A) N ~) O

g$) F X) C l

iv)
N


 NaOH {db¶Z H$m nrEM ‘mZ ³¶m h¡?

v) AmdV©gmaUr Ho$ {H$gr dJ© ‘| D$na go ZrMo OmZo na na‘mUw{ÌÁ¶m ‘| ³¶m n[adV©Z hmoJm?

vi) noQ´>mob Ho$ JwUdÎmm H$s ‘mn .................. go H$s OmVr h¡&

vii) A{^{H«$¶m SnCl2 + 2FeCl3  SnCl4 + 2FeCl2 ‘| {H$gH$m Am³grH$aU d {H$gH$m AnM¶Z hmoVm h¡?

viii) VmnmZwerVZ à{H«$¶m ³¶m h¡?

ix) p½bgamb H$m AmB©.¶y.nr.E.gr. Zm‘ {b{IE&

x) Am³grOZ AUw AZwMwå~H$s¶ ³¶m| hmoVm h¡?

xi) agmoB©Kam| ‘| .................. J¡g BªYZ Ho$ ê$n ‘| à¶wº$ hmoVr h¡&

xii) {d‘mo‘Z ³¶m h¡?

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht nm±M ^mJm| Ho$ CÎma Xr{OE … [5×2=10]

i) {g½‘m d nmB© ~ÝYm| ‘| AÝVa {b{IE&

ii) na‘mUwH«$‘m§H$ 24 d 29 dmbo VËdm| H$m Bbo³Q´>m{ZH$ {dÝ¶mg {b{IE&

iii) EH$ H$R>moa Ob Ho$ Z‘yZo Ho$ EH$ {‘{b¶Z ^mJ ‘| 10 J«m‘ CaSO4 VWm 6.5 J«m‘ Mgcl2 nmE JE& Ob H$s H$R>moaVm nr.nr.E‘.‘| kmV H$s{OE&

iv) àmH¥${VH$ a~‹S> ‘| gë’$a ³¶m| {‘bm¶m OmVm h¡?

v) {ZåZ{b{IV A{^{H«$¶m ‘| Am³grH¥$V d AnM{¶V hmoZo dmbo nXmWm] Ho$ {bE Am¶{ZH$ g‘rH$aU {b{IE& Am³grH¥$V d AnM{¶V hmoZo dmbo nXmWm] H$s nhMmZ
H$s{OE&

2H2S+SO2 3S+2H2O

vi) g§jmaU ~MmZo Ho$ {bE AewÕ YmVw H$s Anojm ewÕ YmVw H$mo dar¶Vm Xr OmVr h¡& g‘PmBE&

vii) nmda EëH$mohmb na g§{já {Q>ßnUr {b{IE&
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à.à.à.à.à.3) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| H$mo hb H$s{OE … [2×5=10]

i) A) ZñQ>© g‘rH$aU go ³¶m VmËn¶© h¡? AÕ© gob Mnt + ne M Ho$ {bE ZñQ>© g‘rH$aU {b{IE&

~) J¡ëdo{ZH$ gob ³¶m h¡? EH$ CXmhaU Ûmam BgH$s H$m¶©{d{Y g‘PmBE&

ii) A) Ob H$s H$R>moaVm H$s ì¶m»¶m H$s{OE&

~) ~m¶ba YmVw na H$mpñQ>H$à^md H$mo g‘PmBE& H$mpñQ>H$ à^md H$mo Xÿa H$aZo Ho$ Cnm¶ ~VmBE&

iii) A) YmpËdH$ g§jmaU H$mo n[a^m{fV H$s{OE& CXmhaU Ûmam amgm¶{ZH$ VWm {dÚwV amgm¶{ZH$ g§jmaU ‘| {d^oX H$s{OE&

~) {ZåZ{b{IV Ho$ AmB©.¶y.nr.E.gr. Zm‘ {b{IE …

1)

2)
3| ||

3 2 2

                    
OCO H

CH CH CH CH C Cl    

3) 3 3| |

2

CH CH CH CO CH
CHO NH

   

à.à.à.à.à.4) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| H$mo hb H$s{OE … [2×5=10]

i) A) Anñ’$moQ>Z d Anñ’$moQ>ZamoYr H$maH$m| na g§{já {Q>ßn{U¶m± {b{IE&

~) ñZohH$m| H$mo n[a^m{fV H$s{OE& ñZohH$m| ‘| ¶moÁ¶ ¶m¡{JH$m| H$m ³¶m ‘hÎd hmoVm h¡? CXmhaU g{hV g‘PmBE&

ii) {ZåZ{b{IV H$mo g‘PmBE -

A) §̂OZ

~) BªYZ H$m H¡$bmoar{‘Vr¶ ‘mZ

g) ~r.Amo.S>r.

X) gr.Amo.S>r.

¶) dU©XÿfU

iii) A) Am’$~mD$ {gÕmÝV VWm Mwå~H$s¶ ¹$mÊQ>‘ g§»¶m H$mo g‘PmBE&

~) gh~hþbH$ go ³¶m g‘PVo h¢? ã¶yZm - S, ã¶yZm - N go {H$g àH$ma {^Þ h¡?

à.à.à.à.à.5) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE … [2×5=10]

i) A) g§jmaU {ZamoYZ na g§{já {Q>ßnUr {b{IE&

~) CXmhaUm| Ûmam g‘~hþbH$ d gh~hþbH$ ‘| {d^oX H$s{OE&

ii) A) Kaoby Ob H$m {dg§H«$‘U ³¶mo§ Amdí¶H$ h¡? {H$gr EH$ {d{Y H$m dU©Z H$s{OE&

~) Ama.Amo. àH«$‘ ³¶m h¡? Bg àH«$‘ Ho$ bm^m| H$m dU©Z H$s{OE&

iii) g§{já {Q>ßnUr {b{IE-

A) ñZohH$ H$s CXmgrZrH$aU g§»¶m VWm gm~wZrH$aU ‘mZ&

~) AmYw{ZH$ AmdV©{Z¶‘ VWm hmBS´>moOZ - ~ÝY&


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